Trend EA V1


This is a price action EA. It buys and sells with the trend.
The trend is defined by Latitude lines.
A series of horizontal lines are drawn on the chart. These are Latitude lines. (Sample indicator attached)
The Latitude line indicator seems to be calculated up from zero. 
ie: using the attached indicator set the gap to 13 pips on & notice the lines are at prices that can be divided by 13. If the Gap is set at 18, notice the prices where the lines are can be divided by 18 etc. This is how I would like the lines to be calculated & displayed, the same as the attached indicator. I mention this so the latitude lines in the EA are calculated the same as the indicator.


Trend definition… This will be defined by the LL (latitude lines) 
A Chart is attached showing arrows where buys and sells are done.
If the price moves up from one latitude line to the one above the trend is up.
If the price moves down from one latitude line to the one below the trend is down.


Advisor operation
When the EA is turned on, a buy or sell is done on the next LL as per Trend Definition.
Example: the market moves up from the LL below and once it touched the LL above a buy is done.
As this is the first trade position size 0.01. If the market continues up without changing direction additional buys 0.01 will be made at each LL until TP occurs. After TP if the market continues up A new buy 0.01 will be made at the next LL and this cycle continues until trend changes.
A different example, Let’s say we have a buy 0.01 and TP has not occurred, if trend changes and price has moved down from the LL above a sell is done on the LL below, position size 0.02. if the market continues down additional sells are done on the LL size 0.02 until TP occurs. When TP occurs, all trades are closed and position size reverts back to 0.01. Say TP does not occur from these sells and trend changes to up Buys are done on the LL size 0.03 and continues to buy 0.03 on additional up LL until TP occurs. In this example we had buys at 0.01, sells at 0.02 and buys at 0.03. All of the trades go into a basket until TP occurs. 


Thats it…


Adviser settings
-LL gap 20 pips (adjustable)
-Trade size progression 0.01,0.02,0.03,0.04,0.05,0.06,0.07,0.08,0.09,0.10,0.11 etc (all adjustable)
-TP 10 pips (adjustable) Could you pls factor in trade costs, commission and spread so the profit 1s actually 10 pips (not 10 pips less commission.) This is important as there could be 10 trades open and the costs will add up.
-Stop trading after TP yes/no
On the chart top RH corner could you have displayed
Account Balance
$ drawdown
% drawdown


Account info MT4
IC Markets ECN account
Commission $7.00 
spread is variable & mostly small

